11

(regression  analysis)

variable) (X's) (independent variables)
Y X X's
X's
1 (multiple - regression)
X's
y = XP + 8
y nx1
X X's X (ptl)
P (p+l)x 1
8

X1
£()=0 1£88)= (n

(least square method )
P=(xxy'x"y
EP)=P
MSE(P) = g2(XX)~1

(XX)-

(Y) (dependent

X's



X's
( fticollinearity) XS
XX\ MSE(P)
P 3 1
X's X's
X's X's
(information) X's X's
(Principle component)
X's X's '
X's
X's 2 MSE
X's (Hoerl) (Kennard)
..1970
k (diagonal) !
X'X P P
p = {X'X+kl)-IX'y 1k>0
k k
k

12 12533.



. 2534 k
(Binaryseach)
(Hoerl & Kennard (HK))
Baldwin (HKB))
HK

k

.. 2539
(Sequential search) k

(max (P*,p*,..., Pp))2

. .1996 (Troskie) (Chalton)
HK 1 (Hemmerle & Carey (HC))
(Nooré& Metha (NM)) k

0 P()" 41
ag,
natural conjugate prior
B CR,p) P=PP O
X1
yo+ 1
a
k 3 ) HK 2

(Hoerl.Kennard &
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k 3
(Hoerl & Kennard method (HK))
(Sequential search method (SEQ))

3 (Bayesian method (BAY))

13

14

0050513
2
3
p = (01), (03), (05), (07), (09)
31

X1X2 X3
X3 01

(normal distribution)

0
ids
(0.99)2
3
1
0.1). (03), (0.5), (0.7), (0.9) (0.9
2 X x2
3 X1X2 X3
1
01 X, X2
X2 X 01

011

X1



|
KBSjjsr.im -
11 ) 1 B

3 5
321 1
01), (03), (05), 07), (09  (0.99)3
3 X, X2 X3

4 X, X2, %3 X4
) X, X2,X3X4 x5
322 2

(0.1,0.0) 10.1,0.3) 1(01,05) 10.1,0.7)10.1,09) 1(0.1,0.99) 1
(0.30.1) 1(03,03) 1(0.305) 103,0.7)10.3,0.9) 1(0.3,0.99) 1
(050.1) 1(05,03) 1(05,05 ) 1
0704) 1 1 10.7,0.7)10.7,09) 1(0.7,0.99) 1
(0.90.1) 1(09,03) 1(0.905) 10.9,0.7)10.9,09) 1(0.9,0.99) 1
(

0.99,0.1) 1(0.99,0.3) 1(0.99,0.5) 1(0.99,0.7) 1(0.99,0.9) 1(0.99,0.99)4

) 1 )

) ) )

) 1050.7)40.5,0.9) 1(05,0.99)

0.7,0.1) 1(0.7,03) 1(0.7,05) ) 1(0.7,0.99)
) ) 1 )

2 2 X, 1x 2
X 3,x4

1 X, x21X3 X 3,x4

X1LX2 X3 01 X, X2 011 X1
X3 01 X2 X3 01

X1,X2
X3X4 (0.1,0.99) X ' X2 0.1 Xs
X4 0.99 1 2 X1 X3



4,

X = [XxX2, .. ,xpy (multivariate  normal
distribution) I =10 E (covariance
matrix) X' X - Vp(|i,E)

5 10, 30, 50, 100
6. (p(P,a))(joint prior distribution) (P, a)’
5 (natural conjugate prior)
T. (monte carlo technique)

1,000
15

' (average mean square of
error (AMSE)) ' k

(PDMSE)
1,000
AMSE(H) = £(P<1-p*)2/ 1,000
AMSE(S) = E(P'9L-p;)2/1,000
AMSE (B) = X - pr)2/ 1,000
A
k HK
pls)
k , SEQ
pe)
! ! k BAY
5 P ¢ (p(P ler)
( Multivariate normal distribution ) a (p(c))

(inverted chi-square distribution )
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L7

AMSE()

_ AMSEirAMSE,mj
POMSE = = flcri * 10
AMSE 021,23

AMSE[i)  AMSE

(conjugate prior distribution )
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